SN SRBHD
M 22 28 2 OIINL (/462 - =)
Chel: SHIIEAL &3 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=2 385,075,800 422,283,627 A37,207,827
= 245,373,630
[ 50,027,000
Jl 133,400
[ 89,541,770
g2 28 L OIKIMD(2E/ 465 - +3) 384,666,425 422,242,153 N37,575,728
= 245,373,630
s 50,027,000
Il 76,400
== 89,189,395
SHIIZAE &F 272,016,960 309,675,790 A37,658,830
= 240,223,000
< 31,793,960
sII=AE 28 - 2 6,000 6,000
202 0o4dl 6,000 6,000
01 2L A 6,000 6,000
OstBII=AIE 22l & N 6,000
St=HMeld Ex(=21) 30,873,100 46,117,180 15,244,080
= 26,432,000
= 4,441,100
403 TR SHMSAH=01H 30,873,100 46,117,180 15,244,080
= 26,432,000
s 4,441,100
01 AXISHHA=2 2L 30,873,100 46,117,180 215,244,080
Odt=Xeld &l 30,873,100
= 26,432,000
< 4,441,100
St=2t2 FH|(21) 146,619,350 171,979,630 N\25,360,280
= 127,443,000
= 19,176,350
403 AXIEHHSAH=201H 146,619,350 171,979,630 A\25,360,280
= 127,443,000
= 19,176,350
01 AXISHHA=2EE 146,619,350 171,979,630 225,360,280
Odt==2t2 & 146,619,350
= 127,443,000
== 19,176,350
SOE OtSot+=% &X(=21) 30,746,300 48,449,660 A17,703,360
= 27,673,000
= 3,073,300
403 AXIEHMSAH=201d 30,746,300 48,449,660 A17,703,360
= 27,673,000
= 3,073,300
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2A: ESH
M gle2 29X U MM (BA/AGAE - 2F)
o SFI|ZAE &5 EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
01 AXIHNK2EE 30,746,300 48,449,660 217,708,360
O=s0E Ot=st=% &Xl 30,746,300
= 27,673,000
= 3,073,300
ol=2Z28H| BILUZ XIZ(=21) 19,785,500 19,806,500 A21,000
= 17,179,000
& 2,606,500
403 REXISHHIS K201 & 19,785,500 19,806,500 A21,000
= 17,179,000
& 2,606,500
01 AXISHHAEER 19,785,500 19,806,500 A21,000
Odt=22 3| BILAUE X2 19,785,500
= 17,179,000
T 2,606,500
oiCte] Sl=Xel& 4AX(=1) 14,769,800 6,110,700 8,659,100
= 13,356,000
T 1,413,800
403 RXISHHSAH201H 14,769,800 6,110,700 8,659,100
= 13,356,000
& 1,413,800
01 AXSHHAEER 14,769,800 6,110,700 8,659,100
OHH?| dt=HMel& &l 14,769,800
= 13,356,000
& 1,413,800
IEE2aas3H2IAE EX(=1) 24,294,610 17,206,120 7,088,490
= 23,587,000
= 707,610
403 XIS MSAHE0IA 24,294,610 17,206,120 7,088,490
= 23,587,000
& 707,610
01 XEXISHHI A= 2 2 24,294,610 17,206,120 7,088,490
OIIEE2LE3XelAlE &EX 24,294,610
= 23,587,000
& 707,610
FIIHH X2 HH0IItASH AFE(=1) 4,922,300 0 4,922,300
= 4,553,000
& 369,300
403 XIS MSAHE0I A 4,922,300 0 4,922,300
= 4,553,000
= 369,300
01 AXIHANA2EE 4,922,300 0 4,922,300
SIS HAE HOILItA S AFS 4,922,300
= 4,553,000

- 725 -




SN SRBHD
M 22 28 2 OIINL (/462 - =)
Chel: SHIIEAL &3 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| | & 369,300
F=Zatd e 9,771,483 14,714,662 A4,943,179
= 4,204,000
Jl 76,400
[ 5,491,083
MEHSHE SRAI (M EALY) 4,500,000 8,362,000 A\3,862,000
403 MR EHHSAHE01H 4,500,000 8,362,000 23,862,000
01 MXIHHA 22X 4,500,000 8,362,000 A3,862,000
O MEHGHHSRAIS () (HE) 2,000,000
OZEd dEjote =t (24)(H&) 1,000,000
OBEH JHSESAL(FH)(HE) 1,500,000
HIESM2ZAIE (22) 4,116,575 4,995,014 A\878,439
= 3,849,000
== 267,575
403 MR HHMSAHE01H 4,116,575 4,99%,014 N\878,439
= 3,849,000
= 267,575
01 AXISHHA=2 22X 4,116,575 4,995,014 A878,439
OHIZBL2E N AL 4,116,575
= 3,849,000
= 267,575
HES M2 AIS 37,600 37,600 0
403 XIS SAH=01H 37,600 37,600
01 A= 2L 37,600 37,600
OLNHXNL FESHY SLATHAY 37,600
=S s2HIE ds2el(=20) 461,500 682,500 221,000
= 365,000
= 106,500
308 AHAIEHMSOIE 461,500 682,500 221,000
= 365,000
= 106,500
01 HXSHH B EES 461,500 682,500 221,000
O=2UFHNE seHIE Es2el 461,500
= 365,000
=S 106,500
e JIS2gEHI(20) 5,180 3,400 1,780
Jl 5,180
201 =3 500 400 100
Jl 500
01 AtR2t2|HI 500 400 100
odsd=iA Jls 23 500
Il 500
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SN SRBHD
M gle2 P8 U MM D(BA/AGAE - 2F)
el =ZEE i EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 4,650 3,000 1,650
Jl 4,650
01 =LHOHI 1,000 1,000 0
oYsZri =X 1,000
7l 1,000
04 =Xl=todb] 3,650 2,000 1,650
OFdae| d&X el 3,650
Jl 3,650
s+ JIS32gdH(=1) 20,000 20,500 A500
) 20,000
201 er2 3| 2,500 3,000 A500
Il 2,500
01 At 2t 2,500 3,000 A500
Ot Jl= 89 2,500
7l 2,500
202 048l 17,500 17,500 0
Il 17,500
01 2LHoIH 6,500 6,500 0
Ot gRFa 6,500
Jl 6,500
04 =XI2+01] 11,000 11,000 0
OFsae| 88X cHASH= 11,000
Il 11,000
Shd=J =RIXIRAIG (21) 1,250 4,340 A3,090
7l 1,250
202 04dl 1,250 4,340 A3,090
) 1,250
04 =NI2t01] 1,250 4,340 A3,090
O=F2UXNAHAIY LT cH2H= 1,250
Jl 1,250
& 2MSEH (=) 90,000 90,000 0
Jl 50,000
=S 40,000
307 glztol & 90,000 90,000 0
Jl 50,000
== 40,000
02 2IZHBYAIHE X 90,000 90,000 0
OFd ZH=1E 90,000
) 50,000
< 40,000
228 SN Al Jgt Ot 4,700 6,600 A1,900
201 =3 4,700 6,600 1,900
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SN SRBHD
M 22 28 2 OIINLA (/462 - =)
ot oHldEl 2 HE A 35 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 Al&HI 190,000 0 190,000
O= +=R2c| SHE 8 190,000
staa 23 197,921 326,921 129,000
oMot JHRe SSHEA &Y 107,921 107,921 0
202 048l 900 900 0
01 2L AL 900 900 0
OCtdotl JHRet SSAYA Td At 900
308 AFAIEHMSOIE 9,6% 9,6%
01 AXEHBEES 9.6% 9.6%
OS=3tE4a e - 2el 9,69%
403 X SHHMSAH=01H 97,325 107,021 29,696
01 AR A= 2 £ 97,325 107,021 N\9,696
Oss3tad e - 2l 97,325
= SSAYE A& 90,000 219,000 129,000
403 MR HHMSAHE01H 90,000 219,000 129,000
01 A= 2L 90,000 219,000 129,000
OL% SS3HEA AEE At 90,000
Y2 AHI(=E 2 ) (OIEHIIEH 103,375 41,474 61,901
Il 57,000
== 46,375
el 2| 57,000 0 57,000
Jl 57,000
sl +EQPEY M2eY 2H(31) 57,000 0 57,000
Jl 57,000
101 @12A4H| 57,000 0 57,000
Il 57,000
02 JIEtME = 57,000 0 57,000
OAZEHLI M E S 57,000
OJ12s(1g) 42,088
AR RS DI 42,088
Il 42,088
OJE=g 480
-t 480
Il 480
OAleI22+E 4,259
) 4,259
OZ A ZAH| 1,680
Jl 1,680
(OFS=1-EN| 1,943
Il 1,943
Ootel &S| 525
-28¥ 525
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